Meth 3

) What is the simplified form of X —X- 6

X -5x-|-6
A X—3
x+3
B X=2
X+ 2
C. X+2
X—-2
D. X+4+3
xX-3

ﬁgv/fvsg_ =y
CFE
At #8%

Standard: A-APR.6

@ Which fraction is equivalent to 6x>~ 5% —6 2X ~3X "9 inlowest terms?

4X+6
A (2x- 3)(Zx-t3)

B. 3)
X+'3

QUJ

C.

e
L7 V)

D.

usix S

X*=3x

Standard: A-APR.7

@ Given the function P(X) =XB+ 4x.‘2.+xr+‘5 for what value of K is (x + 3} a factor of P(;O?

-26
-8
8

26 "

© 0 ® »

polynomial?

Standard: A-APR.2

Given the function 'f(X) = (X— D(xt 3)(2;‘ 1-3), which set includes ail of the zeros for the

A Z _\
1 =233
f ]
12 i3 3}

c. | 21
173 ~ 3%

D. | 1
=3 ”“{)Zf

Standard: A-APR.3



@ Which of the following numbers are solutions to the rational equation
xt5 _ 5§ _ 28 |
X=2 X+2 x*-4

A —~Aamdl

B -4

€ agand

b g Standard: A-REL2

@ Which of the following equations is equivalent to X;?- = '

2x13=3

2+ D=x+2

- 2Ax+) = x+1
CxtDx+)=2

o o w >

Standard: A-REI.2

@ Which expression is cquivalent to |, ‘(X%) for x> 07

A (1)
ln :xj‘
B n(2) -2 (x)
€ 201 =ia )
D. In{d
2T 06 Standard: A-SSE.2

)
i

Which cquation is equivalent to the piecewise function shown below?

_ -2x. X <1
Y¥l2x-4.x>1
A y=z[x—2l-l
B r=2|x+i{-2
¢ =2x-1] -2
D.

v=2|x+2[ -} . Standard: A-SSE.2



- Lot 7@(_\-} =2y - (and g(x) - "X2+X -3, Which equation slu‘ms], (X) where
hA{x}= f(X) . g@!’)‘?

A =xHx43

B h(v) = —x*43x—4

“ h() = —23+x*~5x-3

O n(x)= -3+ =Ty +3 - Standard: F-BF.1

A water sprinkler rotates in a circular pattern with a radius of 8 fect. If the sprinkler stops
60° short of completing the circular pattern, what is the approximate area of the watered
region? -

3349 1t°

41,871t

167.47 1"

200,96 ft°

A

B
C.
D

[l

For what value of x is it true thate®*5=2g>

A logy(28)-5

6. In28 -5
In(3)

¢ In2g)
TS5

0. In(28)-5
3

2

Which relation is the inverse of the functian-ﬁcx’)rxz-b?

v ogystx—3 G gWTIR =3

e
B g{)=4Vx+3 D4l T +3



What is the approximate length of the arc subtended by an angle of 4w

radians on a circle with a radius of 6.00 meters? d
A 12,57 meters
B. 14,14 meters
€. 25,13 meters

D 28.27 meters

@ The amount of money Sarah carns per week is modeled by the function ¥ below where #t
represents the number of hours Sarah works in a week.

0<h <40
W)= {12(;1 40)+320.  h>40

If Sarah worked a total of 48 hours last weel, how much money did she earn?

A S384
B Sd4ie
C. §576
D. S&96

3Ix+ 150
2X~8

@ - Which cquatm;t has the same zero(s) as the function

: f(x)-
2x—-8=0
3x+15=0
Gx+192x - 8) =0
Bx+15)- (2x - §) =0

o 0o o »



Fhe diagram below sh%\\‘s rectangle RST with two diagonals drawa.

(2)&-\‘5) .

(6x - 15)°

Ao (3

63”

v T

Fo find the value of v, Justin wrote the following steps.

Lo ¢ STR +m £ RTU = 90°

2. £ RTU =2T°

36y =15=27

46y =42

S X=7

Which statement can be used to justify the first step?

A The altermate interior angles fonmed by the diagonals are congruent.
B The angles at each vertex of the rectangle are right angles

€. QOppaosite angles in a rectangle are congruent.

D.  The diagonals of a rectangle are congruent, . Standard: G-C0.14

A company makes squarc-pyramid-shaped tents with a height of 6 feet and a base with a
side tength of 8 feet, as shown helow,

[4———anmw-{\¢/

‘Fhe company plans te make a new, larger tent by increasing the side length of the hase by 2
feer. By how many cubic feet would this change inerease the volume of the tent?

A 216 cubic feet
B. 200 cubic feet
C. 72 cubic feat
)

12 cubwe foet



A planc passes through the apex (top point) of a cone and then through its base, What
geometric figure will be formed from thiv intersection?

A square
B triangle
€. parabola
D

straight {ine

? gallon cans.

Standard: G-GMD.4

As part of a home-improvement project, Andy painted 10 walls in
his house. The area of each wall is 14" The paint he bought comes in

‘ I
About how many cans did Andy need if 1 gailon of paint covers 150§% ?

A S

810
¢ 11
D 22

Standard: G-MG.1

Darren wants to determine the favorite sport of people living in his town,
He knows that he needs a large sample size in order for the survey

results to be representative of the residents of the town. Which sample

should Darren use?

A students in a tenth grade English clrass,

8. people entering the local grocery store one weekend

o

people playing basketbal! at the tocal community center

D. people entering the local stadium to watch a baseball game

Standard: S-1C.3

[2-] l The owner of a nationwide chain of shopping malls is interested in the buving habits. on any
given day, of the peeple who shop at the malls, Which sentence describes the BEST sample
the owner could use to make inferences abont the population?

Which characteristic in a statis
conclusions to be drawn r
sample population?

A

8.

A

Choose one shopping matt fron the chain and survey all the people who shop there every day of

the week.

Chpose one shopping mall from the chain and survey the monagers ol the three Fargest stores
abowt the habits of the people who shop in their stores,

Randomly select a sample of shopping malls frony the chain throwghout the naton and sunvéy a
randons sample of the people who shop at the mabl on Frday.

Randomiy select a smnple of shapping mabls from the ¢hain throughout the nation and survey a
random sample of the people who shop at the nialt each day ol the week.

tical study is necessary in order for

The sample must be randomly selected.

The sample must not be randomty selected.

The population size must
based on the sample size

The population size must
based on the sample size

meet a minimum number requirement,

meet @ maximum number requirement,

egarding the whole popuiation, based on the

o]l

DI




